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Read the Passage and then Answer the Questions that Follow:

Artificial Intelligence (Al) is an area of computer science that focuses on the development of
intelligent machines that can perform tasks that normally require human intelligence. such as
recognizing speech. making decisions, and understanding natural language. AI has the potential to
revolutionize many industries, from healthcare to finance to transportation.

One of the most promising applications of Al is in healthcare. AI systems can be trained on large
data sets of medical records. allowing them to make predictions about patient outcomes and suggest
treatment plans. This can lead to more personalized and effective healthcare, as well as cost savings for
patients and providers. For example, Al systems can help doctors identify patients who are at high risk
for certain conditions. allowing for early intervention and treatment.

However, there are also concerns about the use of Al in healthcare. Scientists are concerned that
Al systems may be biased. reflecting the biases of the data they were trained on. This could lead to
disparities in healthcare outcomes for different groups of patients. There are also concerns about data
privacy and security, as AI systems collect and analyze large amounts of sensitive medical data.

Questions--- Part 1

1- What is Artificial Intelligence (AI)?
a) A field of computer science that focuses on developing intelligent machines
b) A technique for encrypting sensitive data  ¢) A method for predicting weather pattern
d) A type of virtual reality software
2- What is one potential application of Al in healthcare?
a) Creating virtual reality environments for patients
b) Developing new medical treatments  ¢) Training doctors to perform surgeries
d) Making predictions about patient outcomes and suggesting treatment plans
3- What is one benefit of using Al in healthcare?
a) Increased risk of bias in healthcare outcomes b) Higher costs for patients and providers
¢) More personalized and effective healthcare d) Reduced effectiveness of medical treatments
4- What is one concern about the use of Al in healthcare?
a) Data privacy and security b) Lack of accuracy in medical predictions
¢) Inability to process large amounts of data  d) Limited potential for revolutionizing healthcare
5- What is one potential risk of using biased Al systems in healthcare?
a) Higher costs for patients and providers b) Reduced effectiveness of medical treatments
¢) Disparities in healthcare outcomes for different groups of patients
d) Increased accuracy in medical predictions
6- What is the synonym for “intervention™ as used in the passage?
a) Hindrance b) Interference  c¢) Continuation d) Observation
7- What is the meaning of the word “potential” as used in the passage?
a) Something that has already been achieved b) Something that is currently being achieved
¢) Something that is impossible to achieve d) Something that is possible but has not yet been
achieved

(A) 1




Part II. Choose the most appropriate answer for each item (a, b, ¢, or d)

8- you go, I'll go with you. .

a) Whoever b) Whichever ¢) Wherever d) Whatever
9- If I had more money. I would love to charity.

a) donating b) donate ¢) to donate d) the donate

10-1 to the store after I finish this project.

a) will go b) have gone ¢) had gone d)would go

11- Which sentence uses the correct word order for a question?
a) Is where the library? b) Where is the library? c¢) Library where is? d) The library is where?

12- He didn’t understand me I spoke to him slowly and clearly.
a) although  b)however ¢) despite d) because

13- A: [hope it doesn't rain. B:
a) Of course not. b) Will it be wet? c)Sodo L d) Not at all

14-1 would to stey at home and relax for a change.

a) rather b) better c) prefer d) enjoy

15-1s there of food for everyone?

a) adequate  b)enough ¢) sufficient d) plenty

16- His eyes were bad that he couldn't read the number plate of the car.
a) such b) too ¢) so d) very

17-T'm sorry - I didn't __ to disturb you.

a) hope b) think ¢) mean d) suppose

18- 1 was looking forward at the new restaurant. but it was closed.

a) toeat b) to have eaten ¢) to eating d) eating

19- Which of the following options is spelled correctly (43 -5_3)?

a) Experiance b) Experience c) Exeperience d) Experiense

20- The missing boy yet.

a) has not been found b) has found c¢) has not found d) hasn’t been
21-Helen have a lot of money. She buys very expensive clothes.

a) could b) must ¢) may d) will

22-1 have a friend works for NASA.

a) which b) who c) that he d) when

23-Won't you let the children a little longer?

a) stay b) to stay ¢) staying d) stayed

24- Why sent late?

a) the order was b) it was c) they were d) was the order

25-You can prolong your life, , eat wisely, and avoid smoking.

a) exercising well b) with exercising c) to exercise d) if you exercise

Good Luck!

(A) 2
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Read the Passage and then Answer the Questions that Follow:

Artificial Intelligence (AI) is an area of computer science that focuses on the development of
intelligent machines that can perform tasks that normally require human intelligence. such as recognizing
speech. making decisions. and understanding natural language. AI has the potential to revolutionize
many industries. from healthcare to finance to transportation.

One of the most promising applications of Al is in healthcare. Al systems can be trained on large
data sets of medical records, allowing them to make predictions about patient outcomes and suggest
treatment plans. This can lead to more personalized and effective healthcare, as well as cost savings for
patients and providers. For example. Al systems can help doctors identify patients who are at high risk for
certain conditions, allowing for early intervention and treatment.

However. there are also concerns about the use of Al in healthcare. Scientists are concerned that
Al systems may be biased, reflecting the biases of the data they were trained on. This could lead to
disparities in healthcare outcomes for different groups of patients. There are also concerns about data
privacy and security. as Al systems collect and analyze large amounts of sensitive medical data.

Questions--- Part 1

1- What is one benefit of using Al in healthcare?

a) Increased risk of bias in healthcare outcomes  b) Higher costs for patients and providers

¢) More personalized and effective healthcare d) Reduced effectiveness of medical treatments
2- What is one concern about the use of Al in healthcare?

a) Data privacy and security b) Lack of accuracy in medical predictions

¢) Inability to process large amounts of data  d) Limited potential for revolutionizing healthcare
3- What is Artificial Intelligence (AI)?

a) A field of computer science that focuses on developing intelligent machines

b) A technique for encrvpting sensitive data  ¢) A method for predicting weather pattern

d) A type of virtual reality software
4- What is one potential application of Al in healthcare?

a) Creating virtual reality environments for patients

b) Developing new medical treatments  c¢) Training doctors to perform surgeries

d) Making predictions about patient outcomes and suggesting treatment plans
5- What is one potential risk of using biased Al systems in healthcare?

a) Higher costs for patients and providers b) Reduced effectiveness of medical treatments

¢) Disparities in healthcare outcomes for different groups of patients

d) Increased accuracy in medical predictions
6- What is the meaning of the word “potential” as used in the passage?

a) Something that has already been achieved  b) Something that is currently being achieved

¢) Something that is impossible to achieve d) Something that is possible but has not yet been achieved
7- What is the synonym for “intervention™ as used in the passage?

a) Hindrance b) Interference ¢) Continuation d) Observation

(B)1




Part II. Choose the most appropriate answer for each item (a. b, ¢, or d)

8- 1 to the store after 1 finish this project.

a) will go b) have gone ¢) had gone d) would go

9- If I had more money. I would love to charity.

a) donating b) donate ¢) to donate d) the donate

10- you go, I'll go with you.

a) Whoever b) Whichever c) Wherever d) Whatever

11- Which sentence uses the correct word order for a question?
a) Is where the library? b) Where is the library? ¢) Library where is? d) The library is where?

12-He didn’t understand me I spoke to him slowly and clearly.

a) although  b) however ¢) despite d) because

13- His eves were bad that he couldn't read the number plate of the car.
a) such b) too ¢) so d) very

14- Why sent late?

a) the order was b) it was c) they were d) was the order

15-1s there of food for everyone?

a) adequate  b)enough c) sufficient d) plenty
16- A: T hope it doesn't rain. B:
a) Of course not. b) Will it be wet? c)Sodo L. d) Not at all

17-1 would to stay at home and relax for a change.

a) rather b) better c) prefer - d) enjoy

18- You can prolong your life, . eat wisely, and avoid smoking.

a) exercising well b) with exercising c) to exercise d) if you exercise
19- Which of the following options is spelled correctly (A5 -5_:3)?

a) Experiance b) Experience c¢) Exeperience d) Experiense

20- The missing boy vet.

a) has not been found b) has found ¢) has not found d) hasn’t been
21-Helen have a lot of money. She buys very expensive clothes.

a) could b) must ¢) may d) will

22-1 have a friend works for NASA.

a) which b) who c) that he d) when

23-Won't you let the children ____ a little longer?

a) stay b) to stay ¢) staying d) stayed

24-1'm sorry - [ didn't to disturb you.

a) hope b) think ¢) mean d) suppose

25-1 was looking forward at the new restaurant. but it was closed.

a) toeat b) to have eaten c) to eating d) eating

Good Luck!

(B) 2
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